

Reappear Grade Sheet of B.Tech. CSE 3rd_Semester_December'2019

			FSU	tatistics J012 Hours- 3	Total	Total	Grade	
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150788	F	3.00	0.00	0.00	3.00	0.00	0.00

Note: F grade course to be repeated

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination



Reappear Grade Sheet of B.Tech. CSE 4th_Semester_December'2019

		Digit		and Proce J018 Hours- 4	Total	Total	Grade		
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average	
1	150667	D	4.00	4.00	16.00	4.00	16.00	4.00	

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination



Reappear Grade Sheet of B.Tech. CSE 5th Semester_December'2019

Sr. No Reg		Analo		gital Electr J060 Hours- 4	ronics	T		Computation J084 Hours- 3	on			echnology J118 Hours- 4	Total	Total	Grade	
	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150421	C+	4.00	6.00	24.00		N	.A	-	С	4.00	5.00	20.00	8.00	44.00	5.50
2	150667		N	.A		D	3.00	4.00	12.00		N	.A	3.00	12.00	4.00	

Date of Issue: 11.02.2020 Prepared By Checked By Controller of Examination



Reappear Grade Sheet of B.Tech. CSE 6th_Semester_December'2019

		Analysis	Analysis and Design of Algorithms CSU083 Credit Hours- 4 Credit Hours- 3 Complier Design CSU086 Credit Hours- 3								Total	Grade				
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	ed Point Point					
1	150421		N	.A		С	3.00	5.00	15.00	3.00	15.00	5.00				
2	150646	D	4.00	4.00	16.00		N	.A	4.00	16.00	4.00					
3	150667	C	4.00	5.00	20.00		N	.A	4.00	20.00	5.00					

Date of Issue: 11.02.2020 Prepared By Checked By Controller of Examination

		Netwrok Security and Cryptography ESU025 Credit Hours- 3								
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured					



Reappear Grade Sheet of B.Tech. 3rd_Semester_December'2019

		Himalayan Geology ESU044				Data Warehousing ESU033				Machine Learning CSU150			AWS CSU296				Ethical Hacking OE055				Operations Research ESU031							
			Credit 1	Hours- 3			Credit I	Hours- 3			Credit 1	Hours- 4			Credit	Hrs - 1			Credit	Hours- 3			Credit	Hrs - 3		Total	Total	Grade
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit		Point Average
1	150520	C+	3.00	6.00	18.00		N	.A		C	4.00	5.00	20.00	F	1.00	0.00	0.00	F	3.00	0.00	0.00	F	3.00	0.00	0.00	14.00	38.00	2.71
2	150667	,	N	.A	•	N.A			D	4.00	4.00	16.00		N.A N.A N.A				4.00	16.00	4.00								
3	150788		N	.A	C+ 3.00 6.00 18.00			•	N.A			N.A			N.A			N.A			3.00	18.00	6.00					

Note: F grade course to be repeated

Date of Issue: 11.02.2020 Prepared By Checked By Controller of Examination